D defender

EEEEEEEEEEEEEEEEEEEEE

OFFICE DESK USER MANUAL

O®UCHbIN CTOJ1. PYKOBOACTBO MOJIb30OBATENA

TANO

ART. 64077



DN defender

TRIFLES MAKE PERFECTION

CONTENTS:
CONEPXAHNE:

1. Scope of delivery
Komnnekm nocmasku 3

2. Assembly order

lMopsdok cbopku 8
3. How to use

Mopadok ucnoab308aHus 16
Attention!
BaxcHo!

1) Before assembly, check that all parts are included.
Meped cbopkoli nposepbme Hasnuyue ecex demaell.

2) Images are for general information purposes only and may vary.

from the actual appearance of the parts.

U30bpaxeHus npedcmassieHel 015 0bweli UHhopmMayuu u Mo2ym omau4amscs
om peasbHoz0 8HewHe2o suda demared.

3) Do not use the table until all bolts are tightened.
He ucnose3sytime cmon do mex nop, noka He 6ydym 3amsHymel 8ce 601Mmei.

4) Check the bolts for tightness every 6 months.
Pas e 6 mecsyes npogepstime 3amsxky 601mos.

5) Don't put your feet on the table.
He ecmasatime Ha cmos Hozamu.

6) Do not wash the table with water, use dry dust cleaning

or wipe with a damp cloth.

He molime cmos 000U, ucnosb3ylime cyxyro o4UCMKy om nelau uau npomupatime
en1axHoli cangpemkodi.



DN defender

TRIFLES MAKE PERFECTION

1. SCOPE OF DELIVERY
KOMII/IEKT MOCTABKU

Part S1 (bolt M8x16) - 14 pcs.
Jlemane ST (6onm M8x16) - 14 wm

Part S2 (Screw M4x14) - 24 pcs.
Jemane S2 (Lypyn M4x14) - 24 wm

Part S3 - 3 pcs.

JAemans S3 - 3 wm

Part S4 (Leg) - 4 pcs.

Jemans S4 (Hoxka) - 4 wm




DN defender

TRIFLES MAKE PERFECTION

Part S5 - 3 pcs.

JAemane S5 - 3 wm

Part S6 (Hexagon 3 mm) - 1 pc.

JAemans S6 (LLlecmuepaHHuk 3 mm) - T wm

Part S7 (6 mm hexagon) - 1 pc.

JAemans S7 (LWecmuepaHHuk 6 mm) - T wm

Part S8 - 8 pcs.

JAemans S8 - 8 wm




DN defender

TRIFLES MAKE PERFECTION

Part S9 - 4 pcs.

JAemans S9 - 4 wm

Part A - 2 pcs.

Jemans A - 2 wm

Part B - 1 piece

Jemans B - T wm

Part C - 1 piece

Hemans C - 1T wm




DN defender

TRIFLES MAKE PERFECTION

Part D - 2 pcs.

Jemane D - 2 wm

Part F - 1 piece

Jemane F-1Twm

Part H - 2 pcs.

Jemans H - 2 wm

Part K - 1 piece

Aemane K - T wm




DN defender

Part L - 1 piece

Aemans L - Twm




D defender

TRIFLES MAKE PERFECTION

2. ASSEMBLY ORDER
OPALAOK C6OPKU




D defender




DN defender

/QC;.Q




DN defender

11



| —_
QO:
cC:
KoF
O:
a:

12



DN defender

13



D defender




DN defender

TRIFLES MAKE PERFECTION

After assembling the table, press

The table will lower to the lower position, stop for 5 seconds,
rise to the upper position, then move to the middle position.
The table is ready for use.

Mocne c6opku cmoaa Haxmume

Cmos onycmumcs 8 HuXHee No0XKeHUe, 0CMAHOBUMCS HA 5 cek, NodHUMemcs
8 8epxHee NosoXeHue, NOMOM Nepemecmumcs 8 cpedHee NOOXeHUe.

Cmos 20mo8 K UCNo/1b308aHU.

15



DN defender

TRIFLES MAKE PERFECTION

3. HOW TO USE
OPALAOK MCIO/Ib30BAHUA

Raise
//\ [ModHaMb
\ / Lower

Onycmume

Remember position 1

3anomHume nonoxerue 1

Remember position 2

%E

3anomHuUmMe nosnoxeHue 2

Reset settings
Cbpoc Hacmpoek

©

16



DN defender

TRIFLES MAKE PERFECTION

WARRANTY SERVICE IS NOT EFFECTED IN THE FOLLOWING SITUATIONS:

1. Expiration of the warranty period (warranty period is settled from the date of sale to the end user).
2. Incorrect plug in to power grid.

3. Breach to safety of guarantee seals, fixing joint assemblies of the case; presence of elements
of opening on outside and inside parts of the product.

4. If the product designed for household use was used for professional purposes.

5. Damage due to penetration of foreign objects, substances, liquids or insects inside the
product.

6. Damage due to breach to normal work of supply network — 220V +/- 10%. (except of
automatic voltage regulators)

7. If the product was opened and repaired by a person unauthorized for that by the dealer.

8. Incorrect operation or careless handling.

9. Damage to the product due to natural disasters.

10. Presence of elements indicating mechanical damage (fall, hit).

11. Disability of connected devices of other producers.

FAPAHTUIAHBIA PEMOHT HE MPOU3BOAUTCA B C/IEAYIOLMNX CNYYAAX:

1. VicteueHme rapaHTUIAHOrO Cpoka (yCTaHaB/MBAETCA CO AHA NPOAaXM ToBapa NoTpebuTento).
2. HenpaBunbHoOe 3aMnoHeHNe rapaHTUIAHOrO TasoHa.

2. HenpaBunbHOe NOAKAOYUEHNE B S1EKTPOCETb.

3. HapyleHune coxpaHHOCTU rapaHTUIHBIX M0OM6 1 KpenexHbIX COeAMHeHUI Kopnyca, Haauuue
CNes0B BCKPBITUA Ha BHELLHWX U BHYTPEHHUX NMOBEPXHOCTAX TOBapa.

4. Annapatypa, npeaHasHaveHHas Ana paboTsl B 6bITOBbIX YCNIOBUAX, NCNOb30BaNACH B
nNpodeccoHabHbIX Liensx.

5. MoBpex/aeHuns Bbi3BaHbl NONaAaHNEM BHYTPb U3AENNs NOCTOPOHHUX NPeAMETOB, BELLEeCTB,
KUAKOCTEM, HaCEKOMBIX.

6. HapyLerue B pabote nuTatoLeit anektpocetn — 220 B +10% (kpome cTabuavzatopoB
HanpsxeHna).

7. BcKpbITUE M PEMOHT TOBapa Npov3BeAeHb! INLIOM, He YNONHOMOYEHHbIM Ha TO
$VpMOiA-nposaBLOM.

8. HenpaBuabHasa skcnayatauma unm HebpexHoe obpalieHue.

9. MoBpexjeHve n3aenns B pesynbtate CTUXWIAHLIX BeACTBUN.

10. Hannuve cneoB MexaHUYeCcKoro noBpexeHuna (nageHve, yaap).

11. HepaboToCNoco6HOCTL NOAK/IHOYAEMbIX YCTPOMCTB APYruX NPOU3BOANTENEN.

17



DN defender

TRIFLES MAKE PERFECTION

Manufacturer: Guangdong Yinku Furniture Co., Ltd

Address: 1-6/F, Building 3, Zone 3, Wanyang Science and Technology Innovation Park, No.1
Huangyong Industrial Avenue, Huanglong Village, Beijiao Town, Shunde District, Foshan City,
Guangdong Province, China. Made in China.

IMPORTER in EU / Importer / Dovozce / Dovozca / Maahantuoja / Importér / Importatorul /
Importeur: Defender Technology 0OU, Betooni str 11, 11415, Tallinn, Estonia.
www.defender-global.com

Wzrotosutens: NyaHrgoHr ViHbky ®enHunue Ko, Jita.

Agpec: 1-6/F, Bungunr 3, 3oyH 3, BaHbsaH CaeHc 3HA TexHonogxu MHHoBeiiwH Mapk, Ho.1,
XyaHiyH Haactpran ABeHto, XyaHnoHr Bunnegx, baiiuzso TayH, LUyHae AuctpukT, ®oluaHb
Cutu, TyaHayH Mposwc, Kutait. CaenaHo B Kutae.

mnoptep B PO / opraHusaimsg, ynonHOMOUEHHas Ha MPUHATUE NPETeH3MiA OT noTpebuTeneii:
00O «T/] Komnanus [ledpeHaep» Aapec: 127030 r. MockBa, BH.Tep.I. MyHULMMNaAbHbIA OKpYr
Teepckoi, yn. Cywésckas, 4. 27, cTpoeHue 2, atax 3, nomelyenue lll, komHata 3, odpuc 63.
www.defender.ru

Bripo6bHuk: NyaHraoHr IHbKy ®eHive Ko., /1T,

Agpeca: 1-6/F, bingiHr 3, 3oHy 3, BaHbsH CalieHc eHa TexHonoaxi IHHoBelWwH Mapk, Ho.1,
XyaHiyH IHaacTpian ABeHto, XyaHnoHr Binneax, beiiuzso TayH, LyHae Auctpukt, owaHs Ciri,
l'yaHayH MposiHc, Kutait.

IMnoptep B YkpaiHi: TOB «BupobHuue Mignpremctso “Mpomucnosi Crctemu», agpeca: By.
Kvpwniscbka, 40A, m. Knis, 04080, YkpaiHa.

www.defender-global.com

ﬂpOMBBOAMTeﬂb ocTaBnsieT 3a cobon npaBo U3MEHEHUA KOMMNAeKTaunn, TexHn4ecknx
XapakTepucTuk 1 BHeLWHero B1nja Toeapa.
HPVI Hannymu mexaHn4eckux nospeerHwﬂ npeTeH3nn no ToeBapy He NPUHNUMaroTCA.

FapaHTUiiHbIN cpok: 6 MecsLeB. MapaHTiiHWiA TepmiH: 6 Micawis. Keningeme 6 ail.

Cpok cnyx6bl 6 MmecsLes. TepmiH cyx6u 6 Micauis. KpiameT Mep3imi 6 aid.

Cpok rogHocTu: 5 net. TepMmiH npuaatHocTi 5 pokis. XXapamabiabik Mep3iMi 5 bl
XpaHuTb B CyxoM NPOBETPUBAEMOM MOMELLEHUM NPy TeMnepaType oT -5 Ao +40 rpaaycos
Llenbcust v OTHOCUTENbHOWN BAaXHOCTU He 6onee 80%.

36epiraTvt B iHTepBani Temnepatyp Big -5 Ao +40 rpagycis Lienbcis Ta BigHOCHilA BoaorocTi
He Ginble 80%.

,CI,aTa N3rotoBAEHUA (MECRLI,, I'OLI,) W HOMep NapTuK yKasaHbl Ha ynakoBKe.

H C€

18



